PLANT ENTERPRISES PRODUCTION

FLANT ENTERFRISES FRODUCTION						
Crop	Number of Producers	Acres	Yield per Acre	Total Production	Units of Measure	Gross Farm Value
FORESTRY						
Pulpwood						
Hardwood				11,046	cords	
Pulpwood (Total)				11,046		
Saw Timber						
Hardwood				235,030	board feet	
Saw Timber (Total)				235,030		
Total Pulpwood, Chip & Saw	,					\$862,732
Saw Timber FOB Mill						
Total Forestry Stumpage						\$248,455
Forestry (Total)						\$862,732
HOME GARDENS	52,000					\$15,600,000
NURSERY CROPS						
Floraculture & Bedding	7				acre	\$1,250,000
Plants						
Woody Ornamentals	6				acre	\$200,000
Foliage Plants	*				acre	\$230,000
Nursery Crops (Total)						\$1,680,000

PLANT ENTERPRISES PRODUCTION

Crop	Number of Producers	Acres	Yield per Acre	Total Production	Units of Measure	Gross Farm Value
VEGETABLES						
Broccoli (Fresh)	7	7.0	350.00	2,450	cartons (20 lbs.)	\$36,750
Cabbage						
Fresh	7	7.0	540.00	3,780	sacks (50 lbs.)	\$26,460
Cabbage (Total)		7.0			, ,	\$26,460
Mustard (Fresh)	9	6.0	750.00	4,500	doz. bunches	\$31,500
Okra (Fresh)	12	7.0	313.00	2,191	bu.	\$54,775
Tomatoes (Green Mature)		5.0	1,500.00	7,500	boxes (25 lbs.)	\$90,000
Vegetables (Total)		32.0	,	,	,	\$239,485
TOTAL ALL PLANT ENTER	PRISES					\$18,382,217

FISHERIES & WILDLIFE ENTERPRISES PRODUCTION

FISHERIES & WILDLIFE ENTERFRISES FRODUCTION						
Fisheries	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value	
AQUACULTURE						
Oysters **	352		102,653	sacks	\$1,761,525	
Aquaculture (Total)					\$1,761,525	
FRESHWATER FISHERIES						
Freshwater Finfish **	39		88,487	lbs.	\$67,436	
Freshwater Fisheries (Total)					\$67,436	
MARINE FISHERIES						
Shrimp **	1,439		22,840,807	lbs.	\$24,668,072	
Crabs **	352		2,415,325	lbs.	\$1,690,728	
Commercial Finfish **	20		2,182,313	lbs.	\$2,706,068	
Marine Fisheries (Total)					\$29,064,867	
FUR ANIMALS			2,815	pelts	\$20,662	
ALLIGATORS (WILD)			3,450	ft.	\$72,450	
TOTAL ALL FISHERIES & V	WILDLIFE ENTERP	RISES	·		\$30,986,941	

^{**} The marine, freshwater and oyster data presented here are for the year 2003 rather than 2004. Release of fisheries landings data by the collecting agencies occurs 4-5 months after the fact. Another reporting system was used in previous years, so this year's data are not directly comparable to that of previous years.

ANIMAL ENTERPRISES PRODUCTION

Animal	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
CATTLE & CALVES					
Steer Calves					
300-400 lbs.			334	head	\$147,925
400-500 lbs.			171	head	\$86,323
500-600 lbs.			238	head	\$133,060
Steer Calves (Total)					\$367,308
Heifer Calves					
300-400 lbs.			425	head	\$171,345
					Page 3 of 5

ANIMAL ENTERPRISES PRODUCTION

	Number of	Units of		Total	Units of	Gross Farm
Animal	Producers	Production		Production	Measure	Value
CATTLE & CALVES						
400-500 lbs.				130	head	\$60,460
500-600 lbs.				130	head	\$68,619
Heifer Calves (Total)						\$300,423
Cull Cows				255	head	\$104,712
Cull Bulls				21	head	\$19,287
Cattle & Calves (Total)			No. Cows			\$791,730
HORSES						
Brood Mares						
Race Horses	42		No. Brood Mares		head	\$1,680,000
Show Horses	15		No. Brood Mares	42	head	\$147,000
Recreation Horses	10	20	No. Brood Mares	5	head	\$7,500
Brood Mares (Total)						\$1,834,500
Stud Fees						
Race Horses			No. Stallions		mares bred	\$260,000
Show Horses		4	No. Stallions	20	mares bred	\$30,000
Stud Fees (Total)						\$290,000
Race Horses	600			1,200		\$12,000,000
Show Horses	45				head	\$1,400,000
Recreation Horses	675			1,200	head	\$1,800,000
Horses (Total)						\$17,324,500
RABBITS						
Fryers	14		No. Animals	2,000		\$1,600
Does	6	75	No. Animals	200	lbs.	\$30
Rabbits (Total)						\$1,630
QUAIL	8	200	No. Breed	650	each	\$1,300
			Stock			
SHEEP						

ANIMAL ENTERPRISES PRODUCTION

	AININI	AL ENTERIKISES TRODUCTI	ON		
Animal	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
SHEEP					
Wool		50 No. Sheared	350	cwt.	\$98
Slaughter Lambs			25	head	\$3,047
Feeder Lambs			20	head	\$1,200
Cull Sheep			5	head	\$275
Sheep (Total)	*	50 No.Breeding			\$4,620
		Ewes			
GOATS					
Slaughter Goats			110	head	\$11,550
Stocker Goats			40	head	\$3,400
Cull Goats			10	head	\$600
Goats (Total)	6	160 No. Does			\$15,550
TOTAL ALL ANIMAL	ENTERPRISES				\$18,139,330
JEFFERSON PARIS	SH TOTAL				\$67,508,488